N = 0l & At & Ml A

AN =S
M FOIXX JIgH 2st
©e: FOMET R MEA S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==X 68,493,029 64,888,414 3,604,615
= 42,357,754
s 609, 158
J| 63,576
< 5,906,397
s 19,556, 144
QXX D8 25t 617,259 628, 762 A 11,503
= 50,518
< 41,308
s 525,433
FOMT AN A 2 617,259 628, 762 A 11,503
= 50,518
< 41,308
[ia 525,433
FUENHRFA 22,500 24,500 A 2,000
201 Let24d] 17,000 15,000 2,000
01 At 22l 17,000 15,000 2,000
OosXJ8" ge=a 3,000
O=XIIE gRF2 2l 2,000
OME=XYS €2 ATE 12,000
203 YR =&l 5,500 5,500 0
03 AIZ=XH 2 =AH| 5,500 5,500 0
OZpl=X AMYREX 2,500
O=sXgd AHGR=A 3,000
AN SAHEEH 2gH XI& 50,000 50,000 0
< 15,000
[ia 35,000
307 21201 A 50,000 50,000 0
< 15,000
s 35,000
10 M2 SXNANEHE2IHEX 50,000 50,000 0
OXNESAtHH 435 XA 50,000
< 15,000
e 35,000
NHHSAE 243 XEAS 8,000 8,000 0
< 2,400
s 5,600
307 glz2tol & 8,000 8,000 0
< 2,400
s 5,600
11T M SRASE EX 8,000 8,000 0
OslYUs HESAE 29 3,000
= 900
s 2,100
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< 1,500
[ia 3,500
MESHIIIE SZAHENMEA ALY 34,000 35,000 A 1,000
307 21201 A 34,000 35,000 A1,000
11T MISRASEX 34,000 35,000 A 1,000
O0lscHe 2&dl XN& 34,000
A=A 2CUOIH XY - =4 61,940 58,966 2,974
= 30,970
< 12,388
[ia 18,582
307 21201 A 61,940 58,966 2,974
= 30,970
= 12,388
[ia 18,582
10 M2 SXNANEHE2IHEX 61,940 58,966 2,974
OX&SAtA 2CUIOIEH XI& 61,940
= 30,970
= 12,388
e 18,582
d= S NASAMEE It MUls XI& 2,086 1,800 286
= 1,043
< 417
fia 626
307 glz2tol & 2,086 1,800 286
= 1,043
= 417
i 626
10 ALSISXAIEEE 2 H EX 2,086 1,800 286
OF= S& NIASAMEE It & 2,086
= 1,043
< 417
[ia 626
NASAEEH 29 XA (XM H) 139,000 166,000 A 27,000
307 21201 A 139,000 166,000 A 27,000
10 ALSISXAIEEE2EHEX 139,000 166,000 A 27,000
OXNASAME 2% X3 (XMIHE) 133,000
ONASAEESNE (HASES NH) 6,000
A ESRHME X2 (HEAL) 157,053 150,036 7,017
301 LEEAZ 157,053 150,036 7,017
0B A =RRAB LS 157,053 150,036 7,017
OMA=ERE B+ 157,053
M3 SXAIE A3 2 22 37,670 37,460 210
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OAZIEXAE ASERLY B4 BMALE I}
Q! 710
AMSISXAIE SAL HMA 48,000 27,000 21,000
307 212t0| ™ 48,000 27,000 21,000
11 A EXAIEEX 48,000 27,000 21,000
OAEEXAIE EAMXHASIEX AN XRIHAHI
& 160 * 150,000 & *23] 48,000
M52 KA EXHAHE XNBAMIIEE XA 20,000 10,000 10,000
207 I & d| 20,000 10,000 10,000
01 A& | 20,000 10,000 10,000
OHMBI| NYGAEHHE 8 29 20,000
DZL-19 MEXH XSAS 37,010 60,000 A 22,990
= 18,505
= 11,103
= 7,402
301 et A= 37,010 60,000 A 22,990
= 18,505
= 11,103
= 7,402
01 Al E & A 452 37,010 60,000 A 22,990
OZZLI-19 MEXdl XSAS 37,010
= 18,505
=} 11,103
= 7,402
OI=EH) S2EE 1,403,625 968,030 435,595
= 206,560
= 1,197,065
B X2 1,403,625 968,030 435,595
= 206,560
= 1,197,065
HHE B 84 X4 215,650 185,650 30,000
201 LBt ]| 10,690 10,690 0
03 A2 H H| 10,690 10,690 0
O3. 18 s A=2dY 3,000
OssY A} 7,030
08.15 =& J|E3 & 660
301 dEtE M= 17,060 17,060 0
01 Al B & A 462 6,000 6,000 0
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AN =S
M HOE =X0Igt =4
Sl HOHQ MEtE IHE XH (&)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
02 =224l 2,000 2,000 0
OZMAE=ES MHEWS HIE 2,000
307 21201 A 121,574 121,638 AB4
11T M SXAISEEX 121,574 121,638 AB4
OH SH2AH& 20FI] 4,000
OZOMAZBET A/SHE At 37,204
OGtAH SJI+=E sl 8,000
OFMEBEstn= 11,900
OFOLIe & &AL 21,500
OsAHEM Rgs 24 6,000
OE0I& AldA & IJI=E0HE 2,400
OAIZZoHel ot H ==& 3l 4,050
OEXIZO0le & AIZEOMC SX3 3,500
OAIZZ0HQ AAr23 E& 2,000
OFjel2din= 2,000
Ol 4gal 2,000
OArES =0 WA 2,700
Ox=0Z 3K 2,500
OFAANMEMRA0 SFHE na 4,500
Odet=k sotel M=Us &It 3,500
OZOHAEHOAAIL CIAIINS AL 1,500
OXMSHMAANOEEUE &It 2,320
ZOHQ HAgsl2 29 X 156,158 91,000 65, 158
307 21201 A 93,158 91,000 2,158
05 212t E = 93,158 91,000 2,158
Ol gtas 2 2 93,158
401 Al HI K 201 I 63,000 0 63,000
01 A& Bl 63,000 0 63,000
OZOMAAG2 2 BoAANE 2 63,000
ZOHUMEOISANRAEH 29 170,257 157,776 12,481
< 33,091
i 137,166
307 glz2tol & 170,257 157,776 12,481
< 33,091
s 137,166
10 ALl SXAIEEE2EH EX 170,257 157,776 12,481
QX MEOIsSKNALMH 22 X2 (XHA) 4,800
OXZOMQ MEOISKNAME 29 KNA(BEX) 165,457
< 33,091
s 132,366
0o =HEIMEH 2Zd XA 205,375 177,156 28,219
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257,797
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257,797

8,973

HH A

35,000
17,500

5,250
12,250

35,000

402 QI2tXt=01 &

MW

35,000
17,500

5,250
12,250

35,000

HH W

35,000
35,000

17,500
5,250
12,250

35,000

Mo H

1,308,368
914,794
78,866
314,708
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73,496
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ZUA=SKAIE SAL SEE
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M H

62,800
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43,960

55,020

7,780

307 21201 A

EURLY

62,800

18,840
43,960

55,020

7,780

10 MM SAANEEE2SHES

OZOMASXAIE SAK

e A CH
=T o

Jm

EUNE

62,800
62,800

18,840
43,960

55,020

7,780

Zofelg el K& (SXLRtel)

HH A

90, 156
45,078
18,031
27,047

79,450

10,706

101 Q124 4]

HH A

90, 156
45,078
18,031
27,047

79,450

10,706
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el ROl MEOIY WE X (29 & 9)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DIt Z2RESES 90,156 79,450 10,706
OZOMA=ERLRtel X 90, 156
= 45,078
< 18,031
[ia 27,047
ZONQIYRel K& (Letadxtel) 246,597 234,608 11,989
= 123,299
= 49,319
s 73,979
101 @124l 246,597 234,608 11,989
= 123,299
< 49,319
[ia 73,979
04 DIt 22 a2+ 246,597 234,608 11,989
OFHrLerd L XRtel 246,597
= 123,299
< 49,319
e 73,979
ZOoN I el K& (Al 2t Xtel) 69,050 65,662 3,388
= 34,525
< 13,810
s 20,715
101 14 Hl 69,050 65,662 3,388
= 34,525
< 13,810
s 20,715
04 JIZtHZ22XEES 69,050 65,662 3,388
OZOHQIAIZEM & Rtel 69,050
= 34,525
< 13,810
s 20,715
A E SH X2 1,796,718 1,756,421 40,297
= 1,257,703
< 161,704
[ia 377,311
301 LA F 1,796,718 1,756,421 40,297
= 1,257,703
= 161,704
[ 377,311
01 MEIBEE 263 1,796,718 1,756,421 40,297
@RSV RelReE=N = 1,796,718
= 1,257,703
< 161,704
s 377,311
=2 0Ix) Xz 152,952 153,080 A 128
= 107,066
< 18,354
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= _ — d =
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301 LEXZ 152,952 153,080 A 128
= 107,066
< 18,354
s 27,532
01 MEI2EZE+05l= 152,952 153,080 N 128
OFM==(Il=x, ANI&) X2 152,952
= 107,066
< 18,354
[ia 27,532
o= (ta? )K= 283,467 200,807 82,660
= 198,427
< 34,016
s 51,024
301 LA F 283,467 200,807 82,660
= 198,427
< 34,016
[ia 51,024
01 AR 2Z A5 3 283,467 200,807 82,660
QXM+ (&=, ors+2)X2 283,467
= 198,427
< 34,016
s 51,024
o EsSXNE=SH X& 2,075,914 1,645,213 430,701
= 1,453,140
< 249,110
s 373,664
307 glz2tol & 2,075,914 1,645,213 430,701
= 1,453,140
< 249,110
[ia 373,664
05 RIZHRI & 3 2,075,914 1,645,213 430,701
OFel sXNISH XA 2,075,914
= 1,453,140
< 249,110
[ia 373,664
22X =0 6,685 3,856 2,829
= 4,680
< 802
[ia 1,203
307 glz2+ol & 6,685 3,856 2,829
= 4,680
< 802
e 1,203
05 RIZt2IE = 6,685 3,856 2,829
Oogs:Ex Jtatsdo 6,685
= 4,680
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